## GP 113153 15th St SW Bridge Replacement, GP 1299 Bid Opening - June 22, 2023 at 2:00pm

STANIF	YMILLER	CONST	CO

REF	ITEM	DESCRIPTION	QTY	UNIT	Unit Price	COST	Labor Unit Price	Material Unit Price	COST
		ROADWAY							
1	201E11000	CLEARING AND GRUBBING	1.000	LUMP	\$5,000.00	\$5,000.00	\$1,778.00	\$0.00	\$1,778.00
2	202E23000	PAVEMENT REMOVED	520.000	SY	\$14.47	\$7,524.40	\$14.00	\$0.00	\$7,280.00
3	202E30000	WALK REMOVED	941.000	SF	\$2.43	\$2,286.63	\$2.25	\$0.00	\$2,117.25
4	202E32000	CURB REMOVED	174.000	FT	\$5.42	\$943.08	\$3.50	\$0.00	\$609.00
5	202E35100	PIPE REMOVED, 24" AND UNDER	413.000	FT	\$15.73	\$6,496.49	\$12.00	\$0.00	\$4,956.00
6	202E58000	MANHOLE REMOVED	2.000	EACH	\$558.16	\$1,116.32	\$612.00	\$0.00	\$1,224.00
7	202E58100	CATCH BASIN REMOVED	4.000	EACH	\$320.41	\$1,281.64	\$300.00	\$0.00	\$1,200.00
8	202E75200	FENCE REMOVED FOR REUSE	72.000	FT	\$8.68	\$624.96	\$13.50	\$0.00	\$972.00
9	202E75254	GATE REMOVED FOR REUSE	1.000	EACH	\$250.00	\$250.00	\$555.00	\$0.00	\$555.00
10	203E10000	EXCAVATION	49.000	CY	\$26.95	\$1,320.55	\$57.00	\$0.00	\$2,793.00
11	203E20000	EMBANKMENT	10.000	CY	\$33.56	\$335.60	\$123.00	\$0.00	\$1,230.00
12	204E10000	SUBGRADE COMPACTION	935.000	SY	\$2.43	\$2,272.05	\$1.00	\$0.00	\$935.00
13	607E23100	FENCE REBUILT	72.000	FT	\$20.00	\$1,440.00	\$18.00	\$10.00	\$2,016.00
14	607E61111	GATE REBUILT, AS PER PLAN	1.000	EACH	\$1,500.00	\$1,500.00	\$1,000.00	\$340.00	\$1,340.00
15	608E12000	5" CONCRETE WALK	1,032.000	SF	\$20.00	\$20,640.00	\$4.00	\$4.00	\$8,256.00

						_	_		
16	609E26000	CURB, TYPE A (PER COC SD-29)	170.000	FT	\$38.53	\$6,550.10	\$35.00	\$15.00	\$8,500.00
		EROSION CONTROL							
17	601E32204	ROCK CHANNEL PROTECTION, TYPE C WITH GEOTEXTILE FABRIC	84.000	CY	\$109.93	\$9,234.12	\$60.00	\$60.00	\$10,080.00
18	659E00300	TOPSOIL	12.000	CY	\$70.48	\$845.76	\$0.00	\$34.00	\$408.00
19	659E10000	SEEDING AND MULCHING	108.000	SY	\$7.61	\$821.88	\$24.00	\$2.25	\$2,835.00
20	659E20000	COMMERCIAL FERTILIZER	0.020	TON	\$704.70	\$14.09	\$0.00	\$800.00	\$16.00
21	659E31000	LIME	0.020	ACRE	\$295.34	\$5.91	\$0.00	\$400.00	\$8.00
22	659E35000	WATER	1.000	MGAL	\$1.40	\$1.40	\$0.00	\$1.00	\$1.00
		DRAINAGE							
23	602E20000	CONCRETE MASONARY	0.460	CY	\$2,285.41	\$1,051.29	\$500.00	\$1,240.00	\$800.40
24	605E14020	6" BASE PIPE UNDERDRAINS WITH GEOTEXTILE FABRIC	94.000	FT	\$25.00	\$2,350.00	\$20.00	\$13.00	\$3,102.00
25	611E00510	6" CONDUIT, TYPE F FOR UNDERDRAIN OUTLETS	45.000	FT	\$21.17	\$952.65	\$20.00	\$6.00	\$1,170.00
26	611E04400	12" CONDUIT, TYPE B	15.000	FT	\$91.31	\$1,369.65	\$100.00	\$32.00	\$1,980.00
27	611E04600	12" CONDUIT, TYPE C	7.000	FT	\$106.01	\$742.07	\$100.00	\$32.00	\$924.00
28	611E05900	15" CONDUIT, TYPE B	107.000	FT	\$98.28	\$10,515.96	\$70.00	\$37.00	\$11,449.00
29	611E10400	24" CONDUIT, TYPE B	265.000	FT	\$123.92	\$32,838.80	\$100.00	\$75.00	\$46,375.00
30	611E98181	CATCH BASIN, AS PER PLAN (PER COC SD-1)	4.000	EACH	\$2,935.95	\$11,743.80	\$629.00	\$1,600.00	\$8,916.00
31	611E99575	MANHOLE, AS PER PLAN, (PER COC SD-10)	2.000	EACH	\$4,187.82	\$8,375.64	\$900.00	\$2,193.00	\$6,186.00
32	611E99655	MANHOLE ADJUSTED TO GRADE, AS PER PLAN	1.000	EACH	\$1,250.00	\$1,250.00	\$623.00	\$100.00	\$723.00
	•			•			•		

		PAVEMENT							
33	301E56000	ASPHALT CONCRETE BASE, PG64-22, (449)	68.000	CY	\$225.00	\$15,300.00	\$50.00	\$188.00	\$16,184.00
34	304E20000	AGGREGATE BASE	153.000	CY	\$79.48	\$12,160.44	\$30.00	\$70.00	\$15,300.00
35	407E10000	TACK COAT	81.000	GAL	\$3.05	\$247.05	\$2.00	\$2.50	\$364.50
36	441E50000	ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG64-22	16.000	CY	\$311.64	\$4,986.24	\$300.00	\$510.00	\$12,960.00
37	411E50200	ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 1, (448)	16.000	CY	\$281.35	\$4,501.60	\$300.00	\$510.00	\$12,960.00
		WATERLINE							
38	638E01201	8" WATER MAIN DUCTILE IRON PIPE ANSI CLASS 52, AS PER PLAN	82.000	FT	\$125.00	\$10,250.00	\$58.00	\$82.00	\$11,480.00
39	638E07490	8" GATE VALVE	2.000	EACH	\$2,075.00	\$4,150.00	\$772.00	\$2,000.00	\$5,544.00
40	638E08710	12" CUTTING-IN SLEEVE	2.000	EACH	\$5,000.00	\$10,000.00	\$600.00	\$783.00	\$2,766.00
41	638E98000	WATER WORK, MISC.: 8" 11.25° BEND	2.000	EACH	\$1,500.00	\$3,000.00	\$300.00	\$389.00	\$1,378.00
42	638E98000	WATER WORK, MISC.: 8" 22.5° BEND	2.000	EACH	\$1,500.00	\$3,000.00	\$300.00	\$412.00	\$1,424.00
43	638E98000	WATER WORK, MISC.: 8" 45° BEND	2.000	EACH	\$1,500.00	\$3,000.00	\$300.00	\$420.00	\$1,440.00
44	638E98000	WATER WORK, MISC.: 12" X 8" REDUCER	2.000	EACH	\$425.00	\$850.00	\$400.00	\$473.00	\$1,746.00
45	638E98000	WATER WORK, MISC.: ABANDON VALVE	2.000	EACH	\$175.00	\$350.00	\$560.00	\$406.00	\$1,932.00
	SANITARY SEWER								\$0.00
46	202E58000	MANHOLE REMOVED	2.000	EACH	\$558.16	\$1,116.32	\$1,000.00	\$0.00	\$2,000.00
47	202E98700	ABANDON MISC.: 8" CONDUIT, TYPE B	125.000	FT	\$21.00	\$2,625.00	\$5.00	\$2.00	\$875.00
48	611E01800	8" CONDUIT, TYPE B	114.000	FT	\$45.47	\$5,183.58	\$100.00	\$167.00	\$30,438.00

49	611E99575	MANHOLE, AS PER PLAN, (PER COC SD-10)	2.000	EACH	\$4,500.00	\$9,000.00	\$755.00	\$3,000.00	\$7,510.00
50	611E99655	MANHOLE ADJUSTED TO GRADE, AS PER PLAN	1.000	EACH	\$735.00	\$735.00	\$700.00	\$190.00	\$890.00
51	611E97300	CONDUIT, MISC.: 4" SANITARY LATERAL, COMPLETE, AS PER PLAN	1.000	LUMP	\$3,000.00	\$3,000.00	\$2,000.00	\$445.00	\$2,445.00
52	611E97300	CONDUIT, MISC.: 8"X4" SANITARY WYE	1.000	LUMP	\$400.00	\$400.00	\$100.00	\$156.00	\$256.00
		TRAFFIC CONTROL							\$0.00
53	614E13310	BARRIER REFLECTOR, TYPE 1	4.000	EACH	\$13.36	\$53.44	\$25.00	\$10.00	\$140.00
54	642E00300	CENTER LINE, TYPE 1	0.070	MILE	\$10,995.12	\$769.66	\$20,000.00	\$6,100.00	\$1,827.00
		STRUCTURE OVER 20 FOOT SPAN							\$0.00
55	202E11003	STRUCTURE REMOVED, OVER 20 FOOT SPAN, AS PER PLAN	1.000	LUMP	\$171,000.00	\$171,000.00	\$196,489.00	\$0.00	\$196,489.00
56	202E22900	APPROACH SLAB REMOVED	210.000	SY	\$29.46	\$6,186.60	\$24.00	\$0.00	\$5,040.00
57	503E11100	COFFERDAMS AND EXCAVATION BRACING	1.000	LUMP	\$400,000.00	\$400,000.00	\$100,000.00	\$89,555.00	\$189,555.00
58	503E21100	UNCLASSIFIED EXCAVATION	208.000	CY	\$50.15	\$10,431.20	\$60.00	\$66.00	\$26,208.00
59	505E11100	PILE DRIVING EQUIPMENT MOBILIZATION	1.000	LUMP	\$25,000.00	\$25,000.00	\$50,668.00	\$0.00	\$50,668.00
60	507E00500	12" CAST-IN-PLACE REINFORCED CONCRETE PILES, DRIVEN	2,380.000	FT	\$13.48	\$32,082.40	\$17.30	\$0.00	\$41,174.00
61	507E00550	12" CAST-IN-PLACE REINFORCED CONCRETE PILES, FURNISHED	2,565.000	FT	\$48.23	\$123,709.95	\$0.00	\$48.00	\$123,120.00
62	509E10000	EPOXY COATED REINFORCING STEEL	61,836.000	LB	\$1.33	\$82,241.88	\$0.75	\$0.85	\$98,937.60
63	511E33500	SEMI-INTEGRAL DIAPHRAGM GUIDE	2.000	EA	\$3,057.50	\$6,115.00	\$1,000.00	\$2,212.00	\$6,424.00
64	511E34446	CLASS QC2 CONCRETE WITH QC/QA, BRIDGE DECK	166.000	CY	\$900.00	\$149,400.00	\$700.00	\$388.00	\$180,608.00
65	511E43512	CLASS QC1 CONCRETE WITH QC/QA, ABUTMENT INCLUDING FOOTING	193.000	CY	\$665.00	\$128,345.00	255	\$200.00	\$87,815.00

66	511E46012	CLASS QC1 CONCRETE WITH QC/QA, RETAINING/WINGWALL NOT INCLUDING FOOTING	26.000	CY	\$1,425.00	\$37,050.00	\$700.00	\$200.00	\$23,400.00
67	511E51512	CLASS QC2 CONCRETE WITH QC/QA, SIDEWALK	52.000	CY	\$390.00	\$20,280.00	\$120.00	\$200.00	\$16,640.00
68	512E10050	SEALING OF CONCRETE SURFACES (NON-EPOXY)	192.000	SY	\$11.64	\$2,234.88	\$3.00	\$3.50	\$1,248.00
69	512E10100	SEALING OF CONCRETE SURFACES (EPOXY-URETHANE)	331.000	SY	\$25.73	\$8,516.63	\$16.00	\$16.00	\$10,592.00
70	513E10261	STRUCTURAL STEEL MEMBERS, LEVEL 3, AS PER PLAN	117,042.000	LB	\$3.00	\$351,126.00	\$0.35	\$2.50	\$333,569.70
71	513E20000	WELDED STUD SHEAR CONNECTORS	1,401.000	EA	\$4.06	\$5,688.06	\$3.00	\$2.50	\$7,705.50
72	516E13600	1" PREFORMED EXPANSION JOINT FILLER	6.000	SF	\$8.75	\$52.50	\$1.00	\$1.00	\$12.00
73	516E13900	2" PREFORMED EXPANSION JOINT FILLER	167.000	SF	\$8.73	\$1,457.91	1	\$4.00	\$835.00
74	516E14020	SEMI-INTEGRAL ABUTMENT EXPANSION JOINT SEAL	134.000	FT	\$29.20	\$3,912.80	\$7.00	\$20.00	\$3,618.00
75	513E44100	ELASTOMERIC BEARING WITH INTERNAL LAMINATES AND LOAD PLATE (NEOPRENE)	14.000	EA	\$880.36	\$12,325.04	\$300.00	\$2,522.00	\$39,508.00
76	517E75121	RAILING (CONCRETE PARAPET WITH TWIN STEEL TUBE RAILING), AS PER PLAN	232.000	FT	\$200.00	\$46,400.00	76	\$200.00	\$64,032.00
77	518E21200	POROUS BACKFILL WITH GEOTEXTILE FABRIC	70.000	CY	\$68.97	\$4,827.90	\$50.00	\$54.00	\$7,280.00
78	518E40000	6" PERFORATED CORRUGATED PLASTIC PIPE	138.000	FT	\$10.22	\$1,410.36	\$10.00	\$7.00	\$2,346.00
79	518E40010	6" NON-PERFORATED CORRUGATED PLASTIC PIPE, INCLUDING SPECIALS	34.000	FT	\$17.61	\$598.74	\$10.00	\$7.00	\$578.00
80	526E30000	REINFORCED CONCRETE APPROACH SLAB (T=17")	389.000	SY	\$307.48	\$119,609.72	\$100.00	\$216.00	\$122,924.00
81	526E90010	TYPE A INSTALLATION	117.000	FT	\$156.70	\$18,333.90	\$39.00	\$100.00	\$16,263.00
82	638E98600	WATER WORK, MISC.: 8" WATERMAIN DUCTILE IRON PIPE ANSI CLASS 52, TR FLEX, AS PER PLAN	97.000	FT	\$150.00	\$14,550.00	\$61.00	\$250.00	\$30,167.00
		INCIDENTALS							\$0.00
83	103E05000	PREMIUM FOR CONTRACT PERFORMANCE BOND AND FOR PAYMENT BOND	1.000	LUMP	\$21,350.00	\$21,350.00	\$0.00	\$21,000.00	\$21,000.00

84	614E11001	MAINTAINING TRAFFIC, AS PER PLAN	1.000	LUMP	\$15,000.00	\$15,000.00	\$1,000.00	\$123.00	\$1,123.00
85	619E16010	FIELD OFFICE, TYPE B	3.000	MNTH	\$1,389.60	\$4,168.80	\$100.00	\$900.00	\$3,000.00
86	623E10000	CONSTRUCTION LAYOUT STAKES AND SURVEYING	1.000	LUMP	\$5,000.00	\$5,000.00	\$100,000.00	\$16,311.00	\$116,311.00
87	624E10000	MOBILIZATION	1.000	LUMP	\$40,000.00	\$40,000.00	\$50,000.00	\$7,222.00	\$57,222.00
						\$2,104,778.44			
							TOTAL	\$2,158,006.95	